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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. All questions carry equal marks. |

3. Answer any five.

4. Answers may be written either in English or Hindi; but the same medium sho,ulc.l
be used throughout the paper.
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1. Explain the steps involved in the estimation of national income with the help of
the income method. (15)
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2.

(a) Derive and explain the working of in investment multiplier in a two sector”
economy ? ' (7'4)
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(b) () If the marginal propensity to save (mps) is-0.0l, what is the value of

the multiplier ?
(i) If (mps) increases to 0.1 what would be the value of the multiplier ?

(ili) Other things remaining the same, how would the level of income be
effected when mps increases from 0.01 to 0.1. Will the level of income

increase or decrease, if so by how much ? (7'%4)
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3. (a) Differentiate between final and intermediate goods. (7'4)
(b) Given the consumption function (7'4)
C=100+09Y

(1) Derive the corresponding savings function.

(i) If we assume autonomous investment is Rs. 100 crores, at what level

of income will savings become equal to investment.
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'Explain the determination of equilibrium level of income in ‘a two’sector -

Keynesian Economic framework model, using the aggregate expenditure approach.
Do you think that equlhbnum will always occur at the full employment level of
output ? | (1 5)
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Explain briefly the balance budget multiplier. (7'%)

Given that [ = 700 crores, C = (200+ 0.9 Yd), G=100 crores, =100

crores, X = 600 crores, M = 0.10 Y. Find the equlhbrlum level of national
income in an economy ? _ (7'4)
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Determine GDP in a four sector economy with income — expenditure
approach. : (7'4)

If cash reserve ratio is 6% and initial deposits are Rs. 12,000, what would

be the credit money supply in the economy, assuming cash with the public
is zero. (7'4)
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7. Explain the speculative demand for holding money. Also explain the derivation of
the money demand curve. (15)
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8. Write short notes on any two :
(i) Quantity theory of money
(i) Paradox of thrift
(1) Net Exports : , (7%4+7'%)
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